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AAHM:%xﬁxm:%xmx_I
12x 5 =13 x HI
— 60
..HI—I—S(cm)




45. Thg 2ol /BAC = 90°, LADC = 90° A

ol o] 7o N
A off, x o] 227 /N:m
\
R IC

® 2cm @ 6cm ® 7cm s~z ---"D3cm

@ 8cm ®)9cm

B ~
AC°=BC.DC o|2&

62 = (x+3) x3

3x+9=236

x=9




46. g "X BC =

180 %1 ]IH, A ZV AV 7}

1

3 ABC 9] Ho|& +otofet

Ct -
| —

>
> ®ME:. 45

=

=

B

BC’ = BH-BA
180 = 12 x BA
- BA=15

CH’ — AH -BH
CH =3x12 =36

. AABC 9] Yol

L AH=15-12=3

CH>o0°]22 CH=6

X 15X 6 =45

| =




47.

A 7t BD & A= Ho@ ste] A C 7t AR o OE=E AL
Zle|ek. AD 91 BE ¢ &4 P ol A BD ol el $419 T Qe &
o, PQ o Zol=?
6cm

1 24
Q ;Cm @ gcm ® 5cm

15 40
@ ?Cm @ gcm

B \
AABP = AEDP ©]|E 2 APBD = o|54H7Hy, wheta BQ =
5 (cm) o]t}

ABPQ ¢} ABDC ©f| A

/C = /PQB, /PBQ = /DBC °]|2&

ABPQ @ ABDC (AA B-<)

BQ:BC=PQ:DC

ol




48. ©he 0|4 B4R ABCD ©) B2 A 71 BC 919 A A’ of

LEE He ul, x 9 g7

L S — D
: ¥
| ,
I D
E I3
/
8
\
B-6-A C

® 12 @ 13 ® 14 @15 ® 16

B

i) EA’ =FEA =10 |22 AB = 10+8 = 18 ] E]©] sABCD
£ 3t He] o)zt 18 9 FArzhg o] =,
AC=18-6=12

ii) /BEA’+/BA’E = /BA’E+/PA’C = 90° °|E2 /BEA’ =
(PA'C ---O
(B=/=90° ---©

@, ©°fl 2l5] AEBA’ coaA’CP
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